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Solve each equation. Verify the solution.
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Homework Sheet Extra Prac 2 # 1-7

En Veoe
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a) Which number could you multiply g by to get the product 57
5 X = 5
b g
9 9
Cy d
4

b) Which number could you multiply 7 by to get the product 47?

Sarah shares a bag of candy with her friend Emma so that each of
them get 15 candy. How much candy did the bag contain?

led x = Candy in bas D "3\,
7 >

a)Write an equation that you can use to solve the problem
let b represent the number of candy in the bag originally

| b) solve b _ \5 3_'_"% = \SxX
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Example 1)
Grandma has enough money to give the same amount to
her five grandchildren.

After Grandma gives them the money, each grandchild
has $25 . How much money did Grandma have to start@

a) Write an equation to represent this problem.
b) Solve the equation.
c) Verify the solution.

Sx -%— = 25%S
X =125
Grondme Nad 129 to storr widh.

Example 2) Y .
1) -‘s\\\f*
_ ‘ CLRA 8, x40
@The school's student council sold T-shirts for chz%?y?'?he council

N 9]

bought the T-shirts in boxes of 40. The student council added $6 t
the cost of each T-shirt. Each T-shirt sold for $26. What did the
student council pay for 1 box of T-shirts?

Je X = cos+ of | box ofF T-shirks

a) Write an equation to represent this problem then solve the equation.

2% + b =26
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B) Verify the solution A e 26
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add to your notes (variable on the bottom)

4
§ +7’ = -5"-1

#3(ac), #4(a,c), #5, #6, #7
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